&2 ASwA ARl of WA
ol wet 3 AE HEAS 0, v nE
wle] % 40 Fol 271 HEZ (1), (2), (3)
off L 45 Fotode

—0.25

(2)

(3)

I o
Bl e | 2







A 93 B AtolE G5 st MATE ot E2 A7) A
ol Al Fet MAart A4 80km 2 B9 | 71 91, B HellA]
Zdet Mgk A% 900km 2 A 9S F8) b ok AT B
Atole] A7 34km & mf, o] F A7} ghd wizhA] A7 Ak
oot



7

iR

fr

A% A7 Fotolat,

L 2400m BolA Qith T Algro] Zhxto]

2 120m B, A8l BE£ 180mE A2E

LU L ]



5. WA 2x-4/=5(x+1)-3 9] |2 Fstolet.

CF-
=

(V]



WA 3 x+1=x+a 9 HE2(x-a)-3=-2x-13

Uiro] "olz) 1 Fo] 2 7} "tk A4 g 9 ghe



1000m? o] Holl RxE8S 7H= d o] & 2%9°] 10
Lubd 4 ekl ghek 60000 m? 9] ol 4 A7 5
Zre|H 2 o] o] Fo] FaghA] Fotoia),

> R 7

Al
F

ZHE<

-

He &

st
=
=)

tlo 4



ofH FA A, B, € 9] A]
1550 7N2t gFc}, A 9} B o] H]&
7| AR ZS PArSH

R

@

450 | 600 | 500

500 | 600 | 700

400 | 550 | 650

rlo

thd A, B, C ZHzto

| ool AATSH 7] B o] A
3:4, BCOHES6: 58
| AAYSHE BB O] A
@
400 | 500 | 600
@
450 | 500 | 600




